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QUESTION 1

The COMMISSION column shows the monthly commission earned by the employee. Exhibit 

Which two tasks would require sub queries or joins in order to be performed in a single step? (Choose two.) 

A. listing the employees who earn the same amount of commission as employee 3 

B. finding the total commission earned by the employees in department 10 

C. finding the number of employees who earn a commission that is higher than the average commission of the
company 

D. listing the departments whose average commission is more that 600 

E. listing the employees who do not earn commission and who are working for department 20 in descending order of the
employee ID 

F. listing the employees whose annual commission is more than 6000 

Correct Answer: AC 

 

QUESTION 2

On your Oracle 12c database, you invoked SQL *Loader to load data into the EMPLOYEES table in the HR schema by
issuing the following command: 

$> sqlldr hr/hr@pdb table=employees 

Which two statements are true regarding the command? 

A. It succeeds with default settings if the EMPLOYEES table belonging to HR is already defined in the database. 

B. It fails because no SQL *Loader data file location is specified. 

C. It fails if the HR user does not have the CREATE ANY DIRECTORY privilege. 

D. It fails because no SQL *Loader control file location is specified. 

Correct Answer: AC 
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*SQL*Loader is invoked when you specify the sqlldr command and, optionally, parameters that establish session
characteristics. 

 

QUESTION 3

Which SQL statement displays the date March 19, 2001 in a format that appears as "Nineteenth of March 2001
12:00:00 AM"? 

A. SELECTTO_CHAR(TO_DATE(\\'19-Mar-2001\\', `DD-Mon-YYYY\\'), `fmDdspth"of" Month YYYY fmHH:MI:SS AM\\')
NEW_DATE. FROM dual; 

B. SELECTTO_CHAR(TO_DATE(\\'19-Mar-2001\\', `DD-Mon-YYYY\\'), `Ddspth"of" Month YYYY fmHH:MI:SS AM\\')
NEW_DATEFROM dual; 

C. SELECTTO_CHAR(TO_DATE(\\'19-Mar-2001\\', `DD-Mon-YYYY\\'), `fmDdspth "of" Month YYYYHH:MI:SS AM\\')
NEW_DATE FROM dual; 

D. SELECTTO_CHAR(TO_DATE(\\'19-Mar-2001\\', `DD-Mon-YYYY), `fmDdspth "of" Month YYYYfmtHH:HI:SS AM\\')
NEW_DATE FROM dual; 

Correct Answer: A 

 

QUESTION 4

Which two are true about aggregate functions? (Choose two.) 

A. You can use aggregate functions in any clause of a SELECT statement. 

B. You can use aggregate functions only in the column list of the select clause and in the WHERE clause of a SELECT
statement. 

C. You can mix single row columns with aggregate functions in the column list of a SELECT statement by grouping on
the single row columns. 

D. You can pass column names, expressions, constants, or functions as parameter to an aggregate function. 

E. You can use aggregate functions on a table, only by grouping the whole table as one single group. 

F. You cannot group the rows of a table by more than one column while using aggregate functions. 

Correct Answer: AD 

 

QUESTION 5

Examine these statements: 

CREATE ROLE registrar; 

GRANT UPDATE ON student_grades TO registrar; 

GRANT registrar to user1, user2, user3; 
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What does this set of SQL statements do? 

A. The set of statements contains an error and does not work. 

B. It creates a role called REGISTRAR, adds the MODIFY privilege on the STUDENT_GRADES object to the role, and
gives the REGISTRAR role to three users. 

C. It creates a role called REGISTRAR, adds the UPDATE privilege on the STUDENT_GRADES object to the role, and
gives the REGISTRAR role to three users. 

D. It creates a role called REGISTRAR, adds the UPDATE privilege on the STUDENT_GRADES object to the role, and
creates three users with the role. 

E. It creates a role called REGISTRAR, adds the UPDATE privilege on three users, and gives the REGISTRAR role to
the STUDENT_GRADES object. 

F. It creates a role called STUDENT_GRADES, adds the UPDATE privilege on three users, and gives the UPDATE role
to the registrar. 

Correct Answer: C 

the statement will create a role call REGISTRAR, grant UPDATE on student_grades to registrar, grant the role to user1,
user2 and user3. 

Incorrect answer: 

A. the statement does not contain error 

B. there is no MODIFY privilege 

D. statement does not create 3 users with the role E. privilege is grant to role then grant to user 

F. privilege is grant to role then grant to user 
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